EARAZROREIERT — 2 N—XBISY —F 201959820 (£) 13@EZHE4H

Il 3551 248 5% 3% (xwlw | lmEmml - |5 5) wom 8
[x&£] 1 %:300,000 3  2%:84,000™ ~ 337%&:48,000M . 43%:30,000H ~ 53#&:18,000 ™
B ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NP A it 3 ﬁs%ﬁg% 1:(3_1).3 4-4-4-2 | 39.2| — 3 <4+258) ﬁéﬁﬁﬁi% (BHE)
x> ov¥/x€x B:Ea—F7s70O2F 5 5
R:T—5Tx—2 BO—XSE R TSR
3 9| FnRTOYY # 3 g[gl{gi— 1( 7‘1? 22-2-1 |39.9| — | 1 | 40 g;zf (BHE)
QT RTANL— BiYAE—I5T b D10 rs
N ELEEZT RN # 3 5—-6%5* 1:(352).9 7-7-7-6 | 39.3| — | 8 | 454 %i;f;\%ﬂ (BHE)
RTAY>TF9yva BIVRT1—FHCFX 1) IR A
“ 5 43 | BRHE 1:33.2 3-3-3-5 |41.2| — 5 457 HEX (BHE)
5|8/ | ¥vTH 56.0 (1 1/2) @ | FIEXR

Rir—77720 B4 XFTH0Ox 79757714

RS 3 | B 1:33.8 1-1-1-3 | 41. - 4 49 |ROFEE (BEE)
EH 6| 3= rH2 K3 350 & A oo ) w7

SANFRTING BNRTFR3FINLR RS
7155 | FLRF T " it 3 %;FZB% 1:(324>.2 6-6-6-7 | 40.9| — 7 <4+925) g;gé&ﬁi)
L:7-0T7+—Z B:bhLTHZTIN #HET7—L4
sl1l1!7 )'f ?7[/_,7 ‘ N i 3 253%%— 1(:33/:2.)4 8-8-8-8 |40.7| — 6 (4_325) ggfﬁ%fﬂ (BHE)
RiTSv 84K Bix—JFNT5v— /=¥ Tp—L
ol7| 7|77 LYAFN .; N i k7 T AR Rl B A 8 ig_(ﬁig‘“fﬁﬁ%wa;
LN—F—29 7 BTFATLILHL b SliEae]
@ 11— F—EBIBML
12=3zr= 6,9,8,4,2,5,3,1,7
23=7r= 6,9,8,4,2,5,3,1,7
I =7"= 6,9,8,4,2,5,3,1,7
43 —F— 9,4,6,2,8,3,5,1,7
0 LRE
BB 4 540 | | A K 2-4 2803 | | # = 2-4 1,130 | | 3EfE 2-4-9 670M
7 B 4 120M 4-9 210M B = 2-4 930/ 3E 4-2-9 5,280M
2 110M 2-9 210 BE 4-2 2,480M
9 100M

ABICOVWTRDTEEERROODE. TR LIV,




